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OUTCOME R6 - Review

1. a) Without graphing, explain if the inverse of g(x) would be a function.

1> No, the inverse of atx) would nod- 7
vepresent a funclion” lbecavse g(x) i
does not pass the horizontal line Jest |
M \
[ \\gm
b) Determine the domain and range - \
of the inverse of g(x) 3 \
Domain: _ 101121 T, A in

Range: E'Z J bl

2. Sketch the graph of the inverse of each of the following. State any invariant
point(s), if they exist.
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3. The points (=3, 7), (0,5), (3,3), and (6,1) are all located on the graph of f(x).
Determine the corresponding points that would be located on the graph of the inverse

of f(x).
(*,-3),(5,0),(3,3) and (1,0)

4. Determine, algebraically, the equation of the inverse of the given function

Flx)= —-gx + 5. Does its inverse represent a function?
§: - Zx 1S
2
X=-5Y+5
K=5-= —%—3
-2(x-s):= vy >es, Y:-2x+ 2 vepresents o fonchion -

“%‘X*las'"j'

5. Determine, algebraically, the equation of the inverse of the function
fx)=(x+3)?%-1.

Restrict the domain of f(x) so that its inverse represents a function.

g-—(us)’—\
X= (y+3)*- |
X#ls (y+3)
+ )
Xel = Y43 1y Reslvict domain of &) 4o
-3 X+l =Y X33
or
Xee=3

6. The graph of a relation and its inverse are reflected over the line \A =X
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7. Given the graph of f(x) below, reflect the graph of f(x) over the line y = x. State the
domain and range for both graphs.
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